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Answer all questions in essay form and to the point with illustrations

where 'apprdpriate.

1.

In analyzing grammatical relations, it is very important to distinguish semantic roles from syntactic

structure.

1. What is semantic role? Give a brief but clear definition. (5%)

ii. Read the examples below. Identify the semantic role of each sct of examples and describe the

prototypical characteristics of that semantic role. (20%)

(1) a. Percival ate beans,
b. Percival ran around the block.
¢. That vase was broken by Percival.
d. Whom did Percival kiss?
. It was Percival who deceived the president.

(2) a. The wind opened the door.

b. The wind blew in through the open window.

¢. That vase was broken by the wind.
d. What did the wind knock over?
e. It was the wind that formed those rocks.

(3) a. Prescott broke the window with a hammer.
" b. A hammer broke the window.
¢. That window was broken by a hammer.
d. What did Prescott break with a hanamer?

e. [t was a hammer that Prescott broke the window with.

(4) a. Lucretia saw the bicycle.
b. Lucretia broke out in a cold sweat.
¢. The explosion was heard by Lucretia.
d. What did Lucretia feel?
e. It was Lucretia who smelled smoke first.

{5) a. I sent the book to Mary,
b. I sent Bill a letter.

iil. Sentences in (6) are describing the same scene. Why the subjects of the sentences can vary in this way?

Provide your own analysis. (5%)
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(6) a. I opened the door with the key.
b. The key opened the door.
¢. The door opened.

2. Read the examples of since and must below and answer the questions that follow:

(1)

@)

a. Since we last met, important things have happened.
b. Since coming to the US, she has been very happy.
¢. Since you're not interested, I won't tell you about it

& wilt s git pu most,  wesan usser her  aldordema,
will you if you able:are be-INF our army leader
leodum lareow?
people-DAT teacher
“Are you willing, if you are able, to be the leader of the army, the teacher of
the people?”
{8th century, Genesis, 2482)
b.  he ne mol na beon eft  gefullod.
he not may not-at:all be  again baptized
1t is not permitted for him to be baptized again.”
(c. 1000 £LS 1, 270.142 [Denison 1993: 425])
c. Hit is halig restendaeg; ne  most Bu  styrigan pine
it is holy rest-day NEG may/can/must thou move  thy
beddinge.
bed , ;
“This is a holy rest-day; you may/must not move your bed.”
{c. 1000 £CHom 1L, 42 [Goossens [987b: 33])
d.  Ac Bmne hit is pin wille Bat ic 3¢ loc oftin mote.

but then it is thy will that T thee sacrifice offer must
“But then it is Thy will that I must offer Thee a sacrifice.”

(. 1200 Vices and Virtues 85.5 [Warner 1993: 175])

€. nota pat euery centre mo! ben also smal as a pedie &
note that every center must be -as  small as a needle and
in euery equant mot be a silk thred,
in every equant must be a silk thread

“Note that every center must be as small as a needle and there must be a silk

thread in every equant.”

{¢. 1392 Equatorie of the Planets, p. 26)
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f.  have wel concluded that blisfulnesse and God ben the sovereyn good; for
whiche it more nedes be that sovereyne blisfulnesse is sovereyn devynite.
I have properly deduced that blisstulness and God are the supreme good:
therefore it must necessarily be that supreme blisstulness is supreme divinity.”
{¢. 1389 Chaueer, Boece p. 432, 1, 124)

Lady Touchwood:  Don’t ask me my reasons, my lord, for they are not fit to
be told you.

Lord Touchwood:  (Aside) I'm amazed; here nust be something more than
ordinary in this. (4/oud ) Not fit to be told me, madam?
(1693 Congreve, Double Dealer, 111, p. 154)
h.  He must understand what we want. (or we’ll never get it)
(we’ve told him so many times) (modern usage)

i. What is the term used in the literature to refer to this process of semantic change of since and must as
“shown in (1) and (2)? Give the definition and elaborate the idea with appropriate examples. (15%)
ii. [Identify the stages of semantic change of must if you find any. (5%)
iit, Explain the possible mechanism of this process, (15%)

3. BFAES0ITE  EETHER -
i FRASTRLIEREEOEPFABEEST « (10%)

() —EEMRETERER " HEARBRMERA - H—EHHEEREA -
i QYETEY TEFAL SR TFA ) BEFERE? HRERE - (%)

@ A TEER? ) HRERE  REFHERACFEF=ROET -

B: T &S A RRESRMANAR - ERETENE—ENE - siesdig g
B RERRR » & ok 1E - MIEIHIREIL » ZRAMHET LT ... REETAITHEK -

ATIE . BT - BARTUESREERA - (R A*E?&AESJ: r,%z/h E’Jﬁgﬁ FAFEH
BERE

BT RERMEEEE - AARERSFA TR RIRAAS » FASRERE AR
BRI - ARSI T - FANRER AR P OEERT L. a3
BRSO RRIREMER - BUERN BSERNSHEE  SRENEORTEE T e
THAE - REAEEEA - o
BEETEFA—SROER T RIS - (SIS MENIELE - T oRmIEns ? FER A LIE » BERE
FRRUADUZE TIFA 5 WEBRTSHIRIGE T RR—BFA s BETE  TEFEEERRRT...

LA EAmERE hap:ivowwewyuni twblog/post/849403-%E4%BDY% AOK ES 108 % AR ES%B0% EBHES%ASUBDUEA%BA%BA (20047730 #I2

iii, FHEMRRAGESZ2ERERUUAN conceptual metaphor theory, metonymy, blending theory, frame
semantics, idealized cognitive models Z)eEaMsyHTOWRES(EH - (20%)

(3)  THEEEHRBEAF EHEMSNE  hERSERE  BEE  FEFE.
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